NOTES

REFER TO DWG. 101116 FOR GENERAL NOTES.

INSTALL HALO GROUNDING AS SHOWN ON SHEET 5, 6, AND REFER TO SHEET 7
FOR GROUNDING DETAILS.

FABRICATE TO THE MIRROR IMAGE OF THIS DRAWING WHERE REQUIRED BY
ECN, SALES ORDER, OR NEW DRAWING RELEASE.

REFER TO SHEET NOTES ON SPECIFIC PAGES FOR ADDITIONAL INSTRUCTIONS.

e PITTSYLVANIA COU

SECTION 1603

1.1 FLOOR LIVE LOAD = 200PSF
1.2 ROOF LIVE LOAD = 100PSF
1.3 ROOF SNOW LOAD WITH A GROUND SNOW LOAD™Q @
1) FLAT-ROOF SNOW LOAD = 100PSF y
_VIRGINIA 2)  SNOW EXPOSURE FACTOR = 1.0

2009 VA Uniform Statewide Building Codes (USBC) 3)  SNOW IMPORTANCE FACTOR =

2009 International Plumbing Code with VA Amendments
2009 International Building Code with VA Amendments 4)  THERMAL FACTOR =

2009 International Mechanical Code with VA Amendments
2009 International Fuel Gas Code with VA Amendments 1.4  WIND LOAD
2009 International Energy Conservation Code
2009 International Fire Code (IFC) with VA Amendments C
2008 National Electrical Code with VA Amendments
2) Y=
3
Code Classification Occy Constr 4
SBC - seec 2 v 5 Index of Drawings
NBC - BOCA Ss2 VB
1.5 E HELTERS Drawing Description
UEC = 1080 s2 v () O nmm OOOCT)Z O/ﬂ O)HWOOEJ\Hi NO#M@@ sheet 1 ._‘#_p \.P__O<<Q_u_m wﬁ_‘mmmmm. Revision Status
IBC— INTERNATIONAL BUILDING CODE S2 VB 204396, sheet 2 One Line/Panel Schedule
ELERATIONS, SS = 185, S1 = 0.10 204396, sheet 3 Alarm Board / Alarm diagrams
204396, sheet 4 Exterior Elevations
>:osoc_o m:mwwm.w . 204396, sheet 5 Interior Layout
uniform floor load (while on foundation) wwm @mﬁ FFICIENTS SDS = 1.24, SD1 = 0.19 204396, sheet 50 Interior Layout — HVAC Option
uniform roof live load ps 204396, sheet 6 Reflected Ceiling
M,jj% %mmg%ﬁ%ﬁﬁ%)oﬂﬁw;@ 120 mph DESIG O@ ORY =D 204396, sheet 7 Grounding Details
Sesmic D RCE RESISTING SYSTEM = 204396, sheet 8 * Construction Details
estimated shipping weight tbd (BEARING WALL SYSTEM W/ INTERMEDIATE PRECAST CONCRETE SHEAR WALLS)
fre retng o] 2 hour 7)  DESIGN BASE SHEAR
recommended foundation 272011
overall building area is 280 sqgft. Qv wmu = 6.9 KIPS
overdll building height is 126 in. - 101116 General Notes
Uv wb_ 6.5 KIPS 277034 Setup Instructions
Field Notes: c) 32 = 6.2 KIPS 272011 Foundation Drawing
a. Allowable stresses calculated using the rec ! qv 26" = 5.2 KIPS
foundation while anchored with <Eu\amm63 ted hard ] mv 4@« — 35 KIPS * Indicates drawing containing work to be done in the field.
b. Uniform floor loading while being lifted is 12 i - - REVISION |HVAC OPTION
8)  SEISMIC RESPONSE COEFFICIENT, CS = .248 REV. STATUS
C. Locate wedge anchor after building is located on 5al4a SHEET
to correctly align with installed anchor plate. Refer @v RESPONSE MODIFICATION FACTOR, R. = 4.0
detail E, on sheet 8 il B B Bl el el Bl el B
' : 10) ANALYSIS PROCEDURE = EQUIVALENT LATERAL FORCE PROCEDURE R e
8176|5432 ]| 1| st )




PP1 UTILITY 225A, 120/240VAC, 18/3W, 60Hz, M.BKR
VOLT AMPERES [WRE| BREAKER BREAKER [WIRE|VOLT AMPERES
LOAD (WATTS) LOAD
P| P P [P A | B
LIGHTNING ARRESTOR #2 | 60 | |4 [2| 60 [T 4 [n2 ] 15 |22 POWER FAIL RELAY
oAl =l o |
ACH1 . (s |2] |5 HT 6] 35 |2 3840 | ACH2
gl EED
LIGHTS, EXT 12| 1] 20 [ 9110 20 [1]12] 180 | | EXI, RECEPTACLE, WR
SMOKE DETECTOR 12| 1] 20 |1 772 | 20 [1]12]  |1260 | EQUP. RM RECEPTACLES]
GEN. RM. RECEPTACLES 12| 1] 20 |15 [T-J4| 20 | 1]12] 120 | | *WATER JACKET HEATER
SPARE -] |15 0E | 0 |12 | 120 *BATT CHARGER
LIGHTS, INTERIOR 12| 1] 20 |17 ]~18] 20 | 1f12] 120 " | GEN. LOOVER
EQUIPMENT DROP #1 22| 15 [19[200 15 [2|12] | 180 EQUIPMENT QROP #2
il |
EQUIPMENT DROP #3 2|2 15 [25[[124| 15 |2 [12] | 180 EQUIPMENT DROP
il (o0 o
EQUIPMENT DROP #5 122 15 |27 28| 15 |2|12] | 180 |  EQUPMENT BRQP #6
FRONT EXTERIOR VIEW 2
APPLETON AJA-20044-200RS 1 u 180
31 32
GEN. RM. HEATER ﬂ 122] 20 HLH 15 |2 EQUIPMENT DROP #7
-
GENERATOR RECPT WIRING BLANK E SR EREA I BLAFK
L
BLANK N - -1 -® - - BLANK
BLANK I ol I I S S I _BIANK
.
VOLT AMPERES PER PHASE | 7958 | 6330 | | | [ 5100 | 6060 | VOLT, AMPERES PER(PHASE]
13058 [ 123904~ N\ N | /TOTAL VOLT\AMPERES
* GF| BY OTHERS AS REQUIRED oo | 1087 N N [/ TOTAL AMPS'PER-PHASE
136 Nl ) / ANPS X125%
150, ' \110% for MAIN
#4 AWG —¢
mom
SD1 200A
UTILITY SERVICE © ©
120/240 VAC 19/3W 60Hz ) 1) UTILITY
o et A oS TS <] PP1
(BY OTHERS, SUBJECT 3 Se Se
TO LOCAL CODES S Mooﬁ 200A 225A
3/0 AWG
“‘m GND T oﬁ gf ™
60A
N\
#4 Awe
$— 3/0 AWG ]
2/0 GRN
1207240 VAC @ CENERATOR INLET LAz
\mé VAC 16,/3W 601z E
BY OTHERS, SUBJEC
TO LOCAL ooommw
ONE-LINE DIAGRAM




HTA
—1—| HicH
ACH1 L.O. m |tk
ALARM
GEN RUN CONTACTS \c RED
BRIDGE CLP~ PR (TB10 IN CONTROL PANEL) | 3 - B
zu/ 700 T2VDC NO
POWER FAIL ALARM PFA — No BLL__i7 - INO = i c M _MHTH FoViP
3/22 soL PFA - C ‘M@ e TB10 13 N ALARM
_ =33 — i
HVAC 1 FAIL A L4 V2 "
3/22 SOL ACFI - c WHL |+ B3 — PP1-18 8 .6 ! G )
ACF2 — N0 BLK [+ B33 — &) 5 | LIGHTNIN | ) LIGHTNING
o sor ACF2 — ¢ MWHT [+ — — » ARRESTOR #1 L —F—} ARRESTOR #2
3/22 SOL Lk ALARM ALARM
LOW Vm% ALARM A mw - Mo | =i
3/22 SoL - ¢ WHT 1T -
WA - No B [+ — GEN. RM. LOUVER MOTOR WIRING D1 D2
R { e T g ) g
-¢ Aol - ™| SMOKE #1 ™| SMOKE #2
DAl — NO _BLK [+ = U ¥ | { ALARM
DOOR ALARM  #1 A YEL YEL
3/22 SOL DA1T - C _WHT [+ -
SMOKE DETECTOR  #1 D1 - No BLK___ 1+ -
3/22 SoL A D1 —c MHT__ |+ — DAI DA2
LIGHTNING ARRRESTOR #1 AT - No BLK___ 1+ - —T— | DOOR #1 ——| DOOR #2
3/22 SOL A A o—c W |7 — K== 0% N 1Y
LIGHTNING ARRRESTOR #2 A2 — No BLK___ |+ - <6
¥/22 50 A T == — l_ LE2 HHA
oo%\ ALARM #2 DA2 - No BLK I+ - _| \J\\ Y¢S N
3/22 S0l { o - ¢ _wr - © <z L e
DA2 - C E PP1-9 e % N, o BLK K==} oy
SMOKE DETECTOR #2 D2 - N0 BLK__ |+ — ~ " USE 3/22 AWG ALARM
3/22 SOL A WHT - — S3 ¢ T WHT /
D2 - ¢ WHT _ |T - zo.ww RED | SOL WIRE
HIGH HUMIDITY ALARM A HHA - No BLK 1T — _| 7 C.
3/22 S0 HHA - ¢ WALl - ALARM WIRE COLOR CODE
mmz RUN A GENR— NO BLK___ |-+ — MS1
y - WHT —
3/22 30 GENR- € = EXTERIOR LTG. C
omz. FAIL GNF— NO BlKK_ [+ —
3722 S0L A ONF— C _WHT - —
GEN._NOT IN AUTO NA - NO BK____f- - PP1-2 | K1
MVB sot NIA = C _WHT . — % WS< >m
ATS NORMAL ATSN — NO BLK_ |+ — \_\
3/22°50L ATSN — ¢ Wil [+ — —
ATS_ EMERGENCY Aimm - NO BLK i - s LF nl
m%wm SOL ATSE — C _WHT |+ — N : 2 N POWER
5
PROPANE ALARM PRO - NO - - PP1_17 IF 5" 2 ¢ FAILURE
BY OTHERS PRO - C — — A . 2 7 o .| ALARM
TOWER LIGHT TWRLT - NO - -
BY OTHERS TWRLT — ¢ - — @ PFA WIRING DIAGRAM
INTERIOR/LTG. CKT: UIPMENT ROOM
S4 LF "A
/|WM|~ N
PPi-17 S5 IF "B’ (TRANSFER SWITCH) (TRANSFER SWITCH)
_mM e . N TB1 TB1
0 Pl < 1 6
S NO NO
INTERIOR LTG. CKT.—GENERATOR ROOM
3 8
© c c
(ATSN) NORMAL POWER ALARM  (ATSE) EMERGENCY POWER ALARM
ALARM WIRING DIAGRAM




294

INSTALL AND REMOVE FOR SHIPPING

¢ 138)
1 t
_ _
e e P e e :
D
10000 o 89
0000!| | |
o 0000 ||
[
b
[

125 MAX

COIL 10" OF #2 i
TINNED FROM MGB @
6 PLACES.
(LEAVE INSIDE FOR TRANSPORT)

0O

@
GNR
70

17

Nol—

—re

=

}

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|
@,,
L __—1
1

|

|

|

|

|

|

| .

1

V
|

|

117

COIL 10" OF #2 TINNED £ 2" SERVICE ENTRY
FROM BUILDING STEEL

7 I\-2" FUEL ENTRY

REAR WALL ELEVATION

©

% LEFT WALL ELEVATION B
348 @
144 MAX
&M
, _ T T
r-r-r-rr—r——7""""""""™"™"""™>"/""®"™"™"™"&/W""*""™"™"™""™"%Q®\ "1~ “~"~“"*"™"&«‘“"~"*"”&™"~™"™"™\"™"™"&/"™>"&/"™"™"™"™>"&/"™"™"™"™"™"™>"™™"™™"“™>"®™>"”™>?=™>™>»‘“™™"®™"”>™"”>?"=>™=">™™"”>™™=™"™™"™™ X~ “""“"“""™"™/"™/"™™° r--r-r—r—-—~—""""®"""™"™"™"™"™>"/"™"”/"*>"&"™~™"™>"&/""&/"~=>"™"&/“™"&™"/="™""™""™7"™"7
| [ !
| _ ] o W
m : : m m r M = | m
| m [ !
| [ |
| N i 0|
W o !
| [ !
| [ |
| [ !
| b ”
m | o ||
! ) . WALL THICKNESS |
I = I © I
| i - |
[
! D -1/4” AELCO | COIL 10" OF #2
! Lo | BARE SOLID TINNED 0
| n | WR
| [ !
| [ !
| [ @ !
L — — e | _ ___ S > L
[AD] [AD] [AD 1aD ]
am Nno_émojoz SHALL BE
mmm 111 i MADE WITH A THREADED LUG 2PL
m ® m (EM2522DH.875.625.437)
288

RIGHT WALL ELEVATION D

ONT %m_. ATION A

EXTERIOR ELEVATIONS

1. ELECTRICAL DIMENSIONS SHOWN ARE APPROXIMATE.

2. THE MEASUREMENTS MAY BE SLIGHTLY DIFFERENT TO
CORRECTLY INSTALLED RIGID NIPPLES.




294

, 144 ,
1
¢ 1385 ) _
1 1
_ _
— :
W b |
| 0000 | | 89 |
| 10000 o |
— | 10000 b |
| | |
L INSTALL AND REMOVE FOR SHIPPING . L -2" SERVICE ENTRY !
| N |
| s — |
@) T >
m = I m =
- |
! COlL 10" OF #2 i ! ! &
! TINNED FROM MGB © | W -
! 6 PLACES. L ,
W (LEAVE INSIDE FOR TRANSPORT) L |
I @ ol R . 1
| Y | g
| o~ [ . \4
| e [ o I
| P b |
e _ﬁt “““““ I EA N
[ADI [ADI [ADI [ADI
\-2" FUEL ENTRY
117
COL 10° OF #2 TINNED E 2 SERVICE ENTRY
FROM BUILDING STEEL 138

REAR WALL ELEVATION

©

Wv LEFT WALL ELEVATION B
348 m W
144 MAX
&M
T — C_ ]

g e e [T 7 2-1/2 TON
W _ 1 Lo | ! HVAC OPTION
| H H B I ] — 1| |

| i B | |

! [ m q | |

! [ | |

! [ | |

! [ | |

! [ | | .
! [ | |

! [ | |

| D | ”

| | 3 H |

” ® N WALL THICKNESS] [! !

I = I © | |

| | = | |

| |

! D -1/4 AELCO | COIL 10" OF #2 |

” o ! BARE SOLID TNNED !

| b | WR |

! [ | |

” b @ W |
L _ L e L | S - Ly _ ]

[ADI [aD] [aD TaDl : ] &
1 13 Nno_émojoz SHALL BE
567 11 i MADE WITH A THREADED LUG 2PL
£ ¢ (EM2522DH.875.625.437)
288

RIGHT WALL ELEVATION D

ONT %m_. ATION A

EXTERIOR ELEVATIONS

1. ELECTRICAL DIMENSIONS SHOWN ARE APPROXIMATE.

2. THE MEASUREMENTS MAY BE SLIGHTLY DIFFERENT TO
CORRECTLY INSTALLED RIGID NIPPLES.




NOTES
\\j)\))\n/\n/\n/\./\/J
277
ro. ALL CONDUIT FITTINGS SHALL BE COMPRESSION %m_k TOLERANCES
#2 GRN TO GROUND THE ALL DIMENSIONS ARE IN INCHES
NN A AN AN CABLE' LADDER (1) UNLESS SPECIFIED OTHERWISE
(b)) CONNECT A MINMUM #2 GRN TO AC MAIN DISCONNECT(SD1) WHERE THE .
NEUTRAL TO GROUND BOND IS LOCATED (SIZE PER NEC CODE) o - . m;kw%mozm s 1/0"
o | 3 S 3| 2 /2
{(©) COVER/INSULATE ALL C-TAPS WITH EITHER TAPE OR PLASTIC SNAP COVERS. | e P mzmwkma M m..m
(@) ALL GROUND LEADS CONNECTED TO THE MGB MUST BE LABELED. W - EW N IF NOTED WITH SYMBOL:
s & 8 5 A FRACTIONS ~ + 1/4”
() #6 GROUND FROM CONDUIT RUN TO HALO. 110 =l = =| | 110 DECIMALS ~ + 0.25”
HALO 104 ANGLES t T
() GROUND ALL METALLIC BOXES TO HALO WITH #6 GRN. Yo R
1l0000 IF NOTED WITH SYMBOL:
(2 BEHIND SHEATHING, CADWELD #2 TINNED TO WELD PLATE RUN THRU PVC TO EXTERIOR irsYelele) #2 GRN WGE __ 92 @ FRACTONS £ 1"
TAG "BUILDING STEEL GROUND" COIL 10'. 0000 IN' THE CABLK_LADDER DECIMALS + 10"
o , ANGLES +5
() #2 GRN TO C/L GROUND N MGB _ _ 76
AHv #2 70 C/L EQUIPMENT GROUND
()90 CONNECTOR, 2" LIQUID TITE TO GENERATOR POWER ENTRY.
{m) 90" CONNECTOR, 17 LIQUID TITE TO GENERATOR ALARM ENTRY.
o M M o
= ) ~ o ') -
— 97 < 7 © 9 7 o
| | @ e 18 |
S - g
127 L > = o 127
1
| ,mﬂﬁzma_ﬂ,
| A 5 IRACK SPACE!
|
2. | 35KW 0 S g/ | NEW POWER sy | e
1 o = EXPANSION
93 !
A e W g8 PLANT |RACK SPACE|
| A SR g | /| 2l ___|
| 307 & &
70 Lv2 i 4 = INEW ALCATEL =
T W ] = ‘ﬂ@ ;@2 B%m ! Ak NG 2PL %
| | I T 1 RACK SPACE| = a4
| 5 CFE/CIE WR
| - - — I —
| (D | P25 700mhZ 36 NORTH P25 363
! 2 N | 1 COMBINER IP CNTRL -
| | | | |
33 RCPT , C = CFE/CIE OFE/CIE
B | G L o e w3
” ’@ .
|
|
0 ! 0
\\\\\ NN ] \\\\\\ o~ 8
102-3/4 X 126-1 S o o~ w
/ N — A 1 1eLco_np 14
m //////// m m m A\\\\ E 12
> 42x84
Q 42x84 : ‘ DOOR FE1.2 31
DOOR S3
6 (K] m == 36 4
pm i |
_m_ $1,2 PB mm Lia PB MN
, S45 EW , : O o
.g |l 6 ﬁ TELCO 48X72
@ 36 LE1 ,oi[mo\, — LEl2 82
— DAZ | LE2 MS1
2lyisy "
J Oﬁk
110 110
INFERIOR FOLDQUT = " 5 G " = o = £
m = o~ o= m > T
I | | [ I I | W, I
ol o o 0 —I<t —l N © (2] M| < m 00




NOTES
\\/\/\()(\/\/\/\/)/

J 277

a. ALL CONDUIT FITTINGS SHALL BE COMPRESSION %m_k TOLERANCES
r #2 GRN TO GROUND THE ALL DIMENSIONS ARE IN INCHES
D U U . . W, W, CABLE LADDER (1) UNLESS SPECIFIED OTHERWISE
(b)) CONNECT A MINMUM #2 GRN TO AC MAIN DISCONNECT(SD1) WHERE THE STANDARD:
6 cce - : ;
NEUTRAL TO GROUND BOND IS LOCATED (SIZE PER NEC CODE) | _ 5 2l 9 FRACTONS & 1/2
{(©) COVER/INSULATE ALL C-TAPS WITH EITHER TAPE OR PLASTIC SNAP COVERS. © = ® e T DECIMALS 0.5
7 7 7 ANGLES + 3
(@) ALL GROUND LEADS CONNECTED TO THE MGB MUST BE LABELED. ! O - IF NOTED WITH SYMBOL:
S| S ﬁ E A FRACTIONS % 1/4”
() #6 GROUND FROM CONDUIT RUN TO HALO. 110 - = == 110 DECIMALS ~ + 0.25
HALO 104 ANGLES + 1
() GROUND ALL METALLIC BOXES TO HALO WITH #6 GRN. — S a—
110000 IF NOTED WITH SYMBOL:
(2 BEHIND SHEATHING, CADWELD #2 TINNED TO WELD PLATE RUN THRU PVC TO EXTERIOR itsYeYele) #2 GRN WeE _ _ 92 @ FRACTIONS ~ + 1
TAG "BUILDING STEEL GROUND" COIL 10'. 0000 IN' THE CABLK_LADDER DECIMALS + 10"
h , ANGLES +5
() #2 GRN TO C/L GROUND N MGB _ _ 76
AHv #2 70 C/L EQUIPMENT GROUND
(i) 90" CONNECTOR, 2" LIQUID TITE TO GENERATOR POWER ENTRY.
{m) 90" CONNECTOR, 17 LIQUID TITE TO GENERATOR ALARM ENTRY.
o %7 3&47 27 V1 S 3%47 =
e __ 18
! ﬁ 12 NP H ,
127 L > F o 127
2" FUEL ENTRY -
| ,mﬂﬁzma_ﬂ,
| A ) IRACK SPACE!
|
2. | 35KW 0 S g/ | NEW POWER sy | e
1 S , = EXPANSION
%1 /7 E ! 58 | PUNT | RACK SPACE,
| A 559 g | OECE | gl ___|
| 301 & &
70 Lv2 i 4 = INEW ALCATEU -
T W ] = ‘ﬂ@ i B%m ! | EXPANSION. 2pL 63}
| | | T 1 RACK SPACE; = &t __“
| 3 CFE/CIE WR
| - - — R —
| (D | P25 700mhZ 36 NORTH P25 363
! \ 2P | 1COMBINER IP CNTRL -
| | | | |
33 RCPT , C = CFE/CIE OFE/CIE
= | | L7 L REF._ 30
” ’@ s
|
|
0 ! 0
\\\\\ NN ] \\\\\\ o~ 8
102-3/4 X 126-1 < P ~ w
/ e o T 1eLco NP 14
8 S 3] & B " W30A1 —ADSXWXXXJ
J N, - o s 2-1/2 TON HVAC
42484 DOOR —_—
DOOR
@ & e 3,6 44
o i |
_m_ P8 M i i
, S4,5 , : ) 2
.g r|L62 ﬁ TELCO 48X72
@ 36, LET T DA — LEL,2 82
— DAZ | LE2 MS1
2lyisa "
110 110
INFERIOR FOLDQUT = - o o & o = T
m o ~N o= m > T
| | | | | | | | W, |
ol o o 0 —I<t —l N ©0 > el 00




#2GRN TO MGB LEGEND
#2GRN TO MGB ACH1 = AIR CONDITIONER/HEATER #1
TOLERANCES S e S - = ACH2 ~ AR CONDITIONER/HEATER f2
ALL DIMENSIONS ARE IN INCHES o] © 5| 8 Sk ¢ o = © ATS — AUTOMATIC TRANSFER SWITCH
UNLESS SPECIFIED OTHERWISE ! ! ! i CFE — CUSTOMER FURNISHED EQUIPMENT
N o N By B mi,m B CIE — CUSTOMER INSTALLED EQUIPMENT
TGN 1/2" 127 - ° - © ° SIS © 127 CKT - CIRCUIT
DECIMALS ~ + 0.5 M cL 121 CL - CABLE LADDER
ANGLES + 3 —d L L — L — CLH - CABLE LADDER HANGER
™ D1 — DETECTOR, SMOKE
IF NOTED WITH SYmBOL: . DA1,2 — DOOR ALARM
4 mm@ﬂ%ﬁ H w\w@ 6p ET - EXHAUST THMBLE
ANGLES + 1 - - - EW - EYE WASH
EXT - EXTERIOR
IF NOTED WITH SYMBOL: ) FE1,2 - FIRE EXTINGUISHER
@ FRACTIONS &+ 1" | = . LF 68 FK — FIRST AID KIT
mmmﬁa i W..o o HTA — HIGH TEMPERATURE ALARM (SET @ 85)
HTR — GEN. ROOM BASEBOARD HEATER
" INT - INTERIOR
- . K1 = RELAY (POWER FAIL)
40 UF cL 42 LA1,2 — LIGHTNING ARRESTOR
fl LE1,2 — LIGHT EXTERIOR
DI, 28 LF — LIGHT FLUORESCENT
Q B LTA — LOW TEMP ALARM (SET @ 50°)
02 LVi — GENERATOR EXHAUST LOUVER
UF LV2 — GENERATOR MOTORIZED INTAKE LOUVER
MGB — MASTER GROUND BAR
0 : MS1,2 — MOTION SENSOR
@ MTS — MANUAL TRANSFER SWITCH
NIP - NIPPLE
PFA — POWER FAIL ALARM
PL - PLACES
PP1— POWER PANEL #1 (UTILITY)
REFLECTED CEILING REF — REFERENCE
RCPT — RECEPTACLE
S1,4 — SWITCH #1 (INTERIOR "A")
$2,5 — SWITCH #2 (INTERIOR 'B')
f a. ALL CONDUIT FITTINGS SHALL BE COMPRESSION S3,6 — SWITCH #3 (EXTERIOR)
SDT - SAFETY SWITCH (MAN)
@ SD2 — SAFETY SWITCH (SURGE ARRESTOR)
() COVER/INSULATE AL C-TAPS WITH EITHER TABE ORNRLASTIC COVERS. T1 - THERMOSTAT #1 (LEAD/LAG)
(SET@72)
(Do & 76 10 oF (2) 3/4” FLEX T2 - THERMOSTAT GEN. RM. HEATER
DROP SHALL CONTAIN 4 CKTS. (PP1-19) TELCO — TELCO BOARD
SHALL CONTAIN 3 CKTS (PP1-27, 28, ANDNIQ). TP — TYPCAL
WGE — WAVE GUIDE ENTRY
WR — ROPT., WEATHER RESISTANT
y m D (2] o~ N m < E _
o = = 3 37 ™ o QN = wi o RCPT., DUPLEX
[ - JUNCTION BOX, 4 X 4
| | , B - RCPT, DUPLEX, WR
5 =z 0 ﬂ = o 27 0 - JUNCTION BOX, 2 X 4
110 gl a < & ~ 110 11 T = @) — REF PART LIST ITEM NUMBER
o1 80X () ~ REF DWG NOTE (SEE SHEET 1)
o o - b‘ DELTA REVISION
g ]
76 PP1 ™ K1 7 20 om 73
pp1 ™1 4TS S / /Q/M
CFE . 2l | so1 4 60 12 12
» 60 __ 12
WWHW? 01 w/m__ SERVICENENTRY o
(gmme
)
: S \/ﬁ i E}
” L ]
8 _ _RCPT 18 wr (27 |
15— B0 | T — R
0 0 0 =
N—»
@ INTERIOR PARTITION\ WALL A" @ INTERIOR PARTITION WALL B




LUG,C~TAP,SMALL,0RG,2M,2-3B
(VFP. NO. 355028-003)

LUG,C~TAP,SMALL,PNK,2M,6—128B . +HH— v
(VFP. NO. 355028-002) \*N AWG GREEN WIRE / #2 GRN
1/8" MIN. :
T8 MAX, 8"R ‘MIN.
point blunt end towards n\ #6 AWG GREEN WIRE ALL A
primary cable entry plate
178~ MIN. | | 8°R MIN.
1/4" MAX. ALL AXES
\ to grounded item

67 @ CABLE LADDER GROUND TAP

#6 AWG
/ DOOR TRIM

(2) BRKT,STDOFF,CBLYIE, 4.65
(VFP. NO. 165260-003)

METAL DOOR FRAME

UG,#6,(2)1,/4H,CRIMP,CU
(VFP. NO. 355027-405) ™

DOOR

BOLT, HEX, 1/4(20)x1, SS (VFP. NO. 165019-103)
WASHER,FLAT,SS,1/4 (VFP NO. 165005—104)

LUG, #6,(2)1/4H,CRIMP,CU BOLT, HEX, 1/4(20)x1, SS
(VFP. NO. 355027-405) (VFP. NO. 165019-103)

GROUND STRAP,DOOR,1/2x18L(#6AWG)
HINGE sz\ (VFP. NO. 150022-002)

—
N

=

==
o
>
s
™
>
=
n
T
=
(%)
—
3
m
o
o
m
M
=
~N
o

WASHER,FLAT,SS,1/4

#6 AWG, GREEN WIRE
(VFP. NO. 165005-104)

o WASHER,LOCK,SS, 1/4 (VFP. NO. %Zaozﬁv @ DOOR BONDING STRAP
VFP. NO. 165025-104
T — ) (2) #10 x 1 HEX WSHR TEK SCR
GROUND BAR/ NUT,HH,SS,1 /4-20 (VFP. NO. 10N100UHWZ) #2 AWG, GREEN WIRE
Zmﬂ\/ﬁ mZOﬁOwCWm HU/?IU. NO. Amuoo%\gouv

#2 GRN TO GROUND THE
CABLE LADDER TO THE MGB

N

#2 GRN HALO
W #2 GRN HALO

Installation Notes

. select bolt length to provide a minimum of two exposed threads.

. burnish mounting surface to remove paint in the area of lug contact.

. apply anti—oxidant compound to mating surface of lug and wipe clean excess compound.
use solid copper wire and mechanical 2—hole lug for all exterior grounding.

. stainless steel hardware only

GROUNDING CONNECTION #2 GRN HALO
@ GENERATOR RM.

N

#2 GRN TO GROUND THE
CABLE LADDER EQUIPMENT
GROUND STRINGER TO THE MGB.

@ao oo

LUG,#2,(2)3/8H,CRIMP,CU
LUG,#2,(2)3/8H,CRIMP,CU VFP#(355027-418)

VFP#(355027-418)

j/—e

/.

WASHER, FLAT,SS,3/8" [ L1 [] L Q
O 0O O O Ao ooo zmmmomo ooooom_
O O O O O O O O OB oM@ o o o o o o [© O
0O O O O @ o) @ @ O O O @ 0 O O 0O O 0O O O
O 0O O O O o O O ooo@oo O 0O O 0O O ©
il 1 1] ] O
WDGLDL5/844 LUG,#2,(2)3/8H,CRIMP,CU
165020-003 VFP#(355027-414) fo2p/e ’
VFP#(355027-418)
éﬁ\ [ /4x2, SS LUG,1/0,(2)3/8H,CRIMP,CU .
_ (SIZE PER NEC) #2 CRN T0_UPS
#2 TINNED TO TERMINAL STRIP

NEUTRAL/GROUND BUS

#1/0 GRN (MIN.) TO SDI EXTERIOR COIL

LUG,THRD,#2S0L,(2)7/16"
VFP#(EM2522DH.875.625.437)

@ GROUND BAR DETAIL (MGB)

Modification Notes

o.mmozo;o:«ocga,Ems:jogooxﬂ;am:gmSQ%mﬂoﬂgooxSm.
OZOCZ_um>_Zw._.>._._OZ (Make sure mjmam oﬁw a minimum of 4 rows per section) c
@ Label all sections as shown with 5/8" or larger letters.

Mount with brackets and insulators at location shown on layout.
Mirror this detail for mirrored shelters.

Stainless Steel Hardware Only

P00




Finishing Notes

a. Refer to Fastening Schedule Drawing #101562.

Refer to manufacturing work order for exterior
and interior finish of building. Refer to detail C this page
for floor covering.

c. Refer to interior layout sheets before routing
interior sheathing for miscellaneous openings.

1 1/2" INSULATION PANELS

OUTSIDE CORNER TRIM
WHITE CAULK

DOOR FRAME
LHR OR RHR

DOOR OPENING

CONCRETE ROOF

(&)1 1/2" NUPOLY / RIGID INSULATION PANEL

MOLDING
floor—base
ceiling/walls—cove

AMVA 1/2" NUPOLY / RIGID INSULATION PANEL

2 1/4"

PLEASE CONFIRM

14" CABLE TRAY HANGER;
CABLE TRAY TO BE 96" AF.F.

g [ \ NUPOLY SHEET

OUTSIDE CORNER TRIM

11/2" INSULATION PANELS T

60

CONCRETE WALL

Q WALL OPENING

CORLATH BEARING PAD

WELDING ANGLE

FLOOR PLATE

VINYL TILE

= POLYSTYRENE
INSULATION

IO

BUTYL ROPE

/smg,zo PLATE
\gma% FINISH @

CEILING
CABLE TRAY HANGER

)

== WASHERFLAT SS,3/8"
(VFP. NO. 165005-106)

~—*+BOLT,LAG,SS,3/8x1-1/2
(VFP. NO. 165000-112)

*{NUT,HH,PL;3/8-16
(VFR NO. 165004-00

V2

EXTERIOR

1/2

ﬂ Wy 1/2" NUPOLY

) P N

CABLE LADDER INSTALLATION

*(TAPPED HANGERS DO NOT REQUIRE THESE ITEMS)
*#(]F METAL OR CONCRETE CAN NOT BE HIT USE,
BOLT,LAG,PL,3/8X1-1/2 (VFP. NO. 165000—012)

" PVC CONDU

(VFP NO. 160072-011)

PLATE,STRAIGHT,GALY, 1 /2x10x12
(LOCATED AT (4 EACH)
OUTSIDE LIFT POINTS)
(VFP. NO. 265053-1)

COVER INSIDE LIFT ASSEMBLIES
WITH PAINTED ALUMINUM PLATES
PROVIDED.  ATTACH WITH SEALANT

SIDE VIEW

®.

FRONT VIEW

Q BUILDING CONSTRUCTION

elevation cut—away

O BUILDING ATTACHMENT FIELD WORK

elevation cut away — from detail ¢

(ULTRACODE CORE)

(VFP NO. 160003-001) INSULATION — TOTAL MIN. R11

(VFP NO. 101454-009)

/ 2 x 4 STUD WALL
3/4” GYPSUM L (VFP NO. 160204-010)

s 1/2” NUPOLY
GEN. ROOM ,\?:u NO. 160072-011)

EQUIP. ROOM

O INTERIOR WALL PARTITION

127
£ 16 £ 7 SP @ 16" 0.C. = 96" £
D
=
TREATED

Q INTERIOR_WALL FRAMING




	439601 Layout1 (1).pdf
	439602
	439603 Layout1 (1)
	439604 Layout1 (1)
	439604A Layout1 (1)
	439605 Layout1 (1)
	439605a Layout1 (1)
	439606 Layout1 (1)
	439607 Layout1 (1)
	439608 Layout1 (1)



